x+8

3
2

O

®y=x*-1




1t} Fofsiet,

—_ yl
P, .
y=3%
1 1
-2 _= -= >
©) 25 9 E
@ 2 ® 2
y=az
V= ax O THILL 5 o] Fro] 27} 1, y o] Zho] T A=
stel AL o 2 g},
b 7127] a < 0 ©] Hofof g},
Ty = Lx BE} y E) 71 9082 1819 Aetgte] ¢
278 WESIL 40] Zhe 2 o]},




3. ohe O™ AR y = 3x o] e zolrt A
A9y B 9 x gl g& 5HH? /N
o),
@ -2 @ -1 ® 0 vl
@ o e
Bf-1-6

~&B

4 A FHEE (1, a), A B O HEE (b,-6) o] 3,
Folxl A A, BEy=3x 9 2= 9]o] Holm& s}

‘g shoiof it
x=1y=a5y=3x°] tYystH
a=3x1=3

SLa=3

x=b, y=-62y=3x°l fgstd
—6=3%xb,3b=-6

nb=-2

wEbA] A(1, 3), B(-2, —6) °]E2 3+ (-2) =1 o[t}




